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1) Which of the following diode is used for Panel indicator?

WA BT STTS UAd GaHd WU ITIRdT SlTal?
[Question ID = 8845]

1. Varactor diode / GR@eX SIS [Option ID = 35500]
2. Tunnel diode / @ SIS [Option ID = 35499]

3. LED / Udsat [Option ID = 35497]

4. Zener diode / '@ﬁ?@?@‘s’ [Option ID = 35498]

Correct Answer :-
e LED/ Q?Iﬁ?ﬁ [Option ID = 35497]

2) Which of the following statement is NOT true about Squirrel Cage Induction Motor?

1. It is less efficient than Slip ring (wound rotor) Induction Motor

2. It requires less maintenance than Slip ring (wound rotor) Induction Motor
3. It is cheaper in cost than Slip ring (wound rotor) Induction Motor

4, It has low starting torque than Slip ring (wound rotor) Induction Motor

Teietie! SIvrd fIUT fRpd Sl SS9 "I Jiadid sRIeR Ael?

1. 9 Ry f&r (g ReR) gsa=M e vear ife srferm AT,

2. gITan f&au 1 (g AeR) SSaRM HieR UeT HH STUTH SHTaRa 3.
3. g ¥y f&1 (g5 AeR) SsRM diex Ue @ 3MTe.

4., gTET WIfén e Ry fA (g ReR) SR Hier var & o,

[Question ID = 8856]

1. 2 only [Option ID = 35542]
2. 1 only [Option ID = 35541]
3. 1 & 4 [Option ID = 35543]
4. 1 & 3 [Option ID = 35544]

Correct Answer :-
o 1 only [Option ID = 35541]

3) Which of the following impurities is NOT tetravalent?

Qe TPt BT SRl AATASAE AATRI?
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[Question ID = 8843]

1. Aluminium / (gAY [Option ID = 35489]
2. Germanium / ST [Option ID = 35492]
3. Silicon / Rifere 9 [Option ID = 35490]

4, Carbon / PIa [Option ID = 35491]

Correct Answer :-

« Aluminium / 3egfHAaT [Option ID = 35489]

4) Which of the following is not a type of file?

Griidt®! Il BIgd 91 PR ATg?
[Question ID = 8820]

1. Square file / FR¥ WIsd [Option ID = 35398]
2. Flat file / UTe WTsd [Option ID = 35400]

3. Rectangular file / Gﬂ?ﬁr@cﬁtb‘l%ﬁ [Option ID = 35397]
4. Triangular file / [ECALIRIES] [Option ID = 35399]

Correct Answer :-
* Rectangular file / ﬂml?cﬁ TTgd [Option ID = 35397]

5) Which of the following is filled around the earth electrode to reduce the resistance of earth ?

3refar ufoepR wH FRUarTS) Trelie T Fra oY sAaeis=ar Higdt YRdTa?
[Question ID = 8860]

1. Water / GTOit [Option ID = 35559]

2. Salt and coal / HI& 3101 H1&9T [Option ID = 35557]
3. Copper and zinc / GIEREIIURSIES] [Option ID = 35560]
4, Wood / dieh S [Option ID = 35558]

Correct Answer :-

« Salt and coal / H& 3ff0T ®IewT [Option ID = 35557]

6) Which of the following internal composition does not contain four layers?

@Teltd 9! HIurT SiTae IAATHS IR w6 AT6a?
[Question ID = 8866]

1. DIAC [Option ID = 35582]
2. UJT [Option ID = 35581]
3. SCR [Option ID = 35584]
4. TRIAC [Option ID = 35583]

Correct Answer :-
o UJT [Option ID = 35581]
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7) Which type of earthing is represented by the following figure?

Earth
vire

— G.l. Pipe

Charcoal +
San

[Question ID = 8838]

1. Plate earthing / @ic 3{fT [Option ID = 35470]
2. Pipe earthing / UTSU 31T [Option ID = 35469]
3. Strip earthing / R 31ffiT [Option ID = 35472]
4. Rod earthing / J1S 31T [Option ID = 35471]

Correct Answer :-
« Pipe earthing / UIg4 3ffdf [Option ID = 35469]

8) Band gap (energy gap) of Diamond is
SIS §U8 1Y (S 3ieR) 3Te.
[Question ID = 8842]

1. 6 eV [Option ID = 35485]
2. 0.2 eV [Option ID = 35486]
3. 2.5 eV [Option ID = 35488]
4. 9 eV [Option ID = 35487]

Correct Answer :-
e 6 eV [Option ID = 35485]

9) V-I graph is a straight line for
V-1 TT% TS} TP TS I6T 3R,

[Question ID = 8824]

1. Varactor diaode / @XaCR SIS [Option ID = 35415]

2. Gunn diode / T4 SIS [Option ID = 35416]

3. Thermistor / 3SHi& [Option ID = 35414]

4. Copper electrode / Wsﬁa@?‘; [Option ID = 35413]
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Correct Answer :-
+ Copper electrode / i Scidels [Option ID = 35413]

10) Output signal of a common-emitter amplifier is out of phase with the input signal.
BIAA-TIR FRABIRET 3Sheye R 3Yc R 98 3MSe 3T el 3R,

[Question ID = 8848]

1. 90 degrees / 90 f&% [Option ID = 35510]
2. 180 degrees / 180 fei [Option ID = 35509]
3. 45 degrees / 45 &Yt [Option ID = 35511]
4. 0 degrees / 0 T84 [Option ID = 35512]

Correct Answer :-
« 180 degrees / 180 &3 [Option ID = 35509]

11) In a pure capacitive circuit, current voltage and power factor is

IS HUrIfed Afbeasdl Fic Fleed SATOT UTar Haex 3T8.

[Question ID = 8837]

1. Lags, zero / &, A [Option ID = 35466]

2. Is in negative phase with, unity / g¢Tg fTifed the T& 3118 [Option ID = 35468]
3. Is in positive phase with, unity / gﬁﬂﬂ% uifeifea e A4 38 [Option ID = 35467]
4. Leads, zero / NS , {3 [Option ID = 35465]

Correct Answer :-
+ Leads, zero / IS , A [Option ID = 35465]

12) In a CRO, time taken by a beam to excite a definite area of phosphate can be adjusted by
control.

HWemrat e, Biehed Us fAfda & Sxfora Hruar U fHum Saeen aoaR GRT U
Fd WS, .

[Question ID = 8864]

1. Boundary condition / T Ryt [Option ID = 35574]
2. Time/division / ) / faumT [Option ID = 35573]

3. Sweep / WY [Option ID = 35576]

4. Gain condition / 719 R [Option ID = 35575]

Correct Answer :-

« Time/division / 335/]%'1-”1'[ [Option ID = 35573]

13) In an intrinsic semiconductor, contribute towards electrical conductivity.
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[Question ID = 8841]

1. Both holes and electrons / qlot fos affor sﬁﬁlﬁ?\‘[ [Option ID = 35481]

2. Electrons / ad¢I= [Option ID = 35482]

3. Neither holes nor electrons / f&%, Sddgi- G-l f§ =TT [Option ID = 35484]
4. Holes / f&% [Option ID = 35483]

Correct Answer :-

« Both holes and electrons / G=g! fe5s 3107 Seige =4 [Option ID = 35481]

14) In a concealed wiring system, a saddle is established at approximately what distance from the
switch box?

HiYes I Tgdld, R ST Y i frd) Siarmar 3rdr?
[Question ID = 8834]

1. 30 cm [Option ID = 35453]
2. 1 m [Option ID = 35455]
3. 60 cm [Option ID = 35454]
4. 5 m [Option ID = 35456]

Correct Answer :-
e 30 cm [Option ID = 35453]

15) In an AC circuit, if reactance is zero, then the power factor will be

AC Tdfhensd TR Nae=T T 3k o Uiar Haex EUIR.
[Question ID = 8861]

1. Two / G [Option ID = 35564]

2. Unity / gt [Option ID = 35561]
3. Zero / ][ [Option ID = 35563]
4. Infinite / 3BT [Option ID = 35562]

Correct Answer :-
« Unity / A<t [Option ID = 35561]

16) According to IS:3034-1966, the resistance of Power Wiring Earthing should be
IS:303¥-3R&E SHR, UlaR arafe siffrar ufaer S0} IS 3TE.
[Question ID = 8840]

1. 1 ohm [Option ID = 35477]

2. 0.1 ohm [Option ID = 35478]

3. 0.5 to 1 ohm [Option ID = 35479]
4. 1 Kilo ohm [Option ID = 35480]

Correct Answer :-
e 1 ohm [Option ID = 35477]
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17) FET stands for

TBsd WU

[Question ID = 8850]

1. Field-Emission Transistor / hles-THR TIf9ReX [Option ID = 35518]
2. Field-Effect Transistor / Tice-ghdc cli-aRex [Option ID = 35517]

3. Field-emitting transistor / Tics-THTT CIfRReR [Option ID = 35520]
4, Free-effect transistor / l-3thde EAT%IRT [Option ID = 35519]

Correct Answer :-

« Field-Effect Transistor / Hics-sthac gl-aRex [Option ID = 35517]

18) Ampere per meter is

ISR yeft Hiew 33,

[Question ID = 8823]

1. Capacitance / HURCH [Option ID = 35410]

2. Magnetic Flux / _glﬁﬁﬁﬁ Ydig [Option ID = 35412]
3. Magnetic Field Strength / W & grf [Option ID = 35409]
4, Self Induction / @FCF'&‘ETNTT [Option ID = 35411]

Correct Answer :-
« Magnetic Field Strength / G&@ g &= I [Option ID = 35409]

19) If a piece of iron is to be electroplated by gold layer, find the mass of gold layer deposited on its
surface in 10 minutes if current flowing is 50 A and magnitude of E.C.E. is 0.0003.

R TETE GG ST g edTay JI-ITET JeTHT 83 ST W e SR 3T a) dee Yo TS g, 3.3
THTUT 0,0003 RTTIT 20 fAfeTd rear ygHTTER favdl Ai=aran gardr gisa o |qi?

[Question ID = 8828]

1. 9.0 g [Option ID = 35429]
2. 4 g [Option ID = 35430]

3. 4.5 g [Option ID = 35431]
4. 8.2 g [Option ID = 35432]

Correct Answer :-
e 9.0 g [Option ID = 35429]

20) We will be going to make a if we mix Phosphorus with silicon.

BIEpId ST Riferei= g firgor s smyor TR HIUMR 3ATENd.

[Question ID = 8829]

1. n type semiconductor / Uch UhRdl AfdheaeR [Option ID = 35433]
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2. insulator / fgeRIYS® [Option ID = 35436]
3. p type semiconductor / O TeRam Wffdeac [Option ID = 35434]
4. diode / STAIE [Option ID = 35435]

Correct Answer :-
* n type semiconductor / U YHRHI Affdreae [Option ID = 35433]

21) If the peak value of the Alternating Current is 230 V, its average value will be

AEERATET Pied FUTA &I 30 Fiee SRTCAN, T IRRT &I 3.
[Question ID = 8826]

1. 184.3 V [Option ID = 35424]
2. 146.28 V [Option ID = 35421]
3.220.2 V [Option ID = 35422]
4.171.7 V [Option ID = 35423]

Correct Answer :-
* 146.28 V [Option ID = 35421]

22) If the synchronous speed of a motor is 1000 rpm whereas its supply frequency is 50 Hz, what
will be the number of poles in the motor?

aaé?mﬂmﬁﬁaﬂ 1000 rpm 3R TR W QRAST IRARGT 50 Feg1 3d a¥ Hiexued et v
?

[Question ID = 8859]

1. 10 [Option ID = 35556]
2. 4 [Option ID = 35554]
3. 12 [Option ID = 35555]
4. 6 [Option ID = 35553]

Correct Answer :-

* 6 [Option ID = 35553]

23) If the teeths of a tenon saw are worn out, in order to make the teeth sharp,

T T =47 &1 9 YR YT ST, T YR HRUGRITST

[Question ID = 8822]

1. It must be rubbed on the floor. /?f TREMER T UT%@H [Option ID = 35408]

2. It must be rubbed with a triangular file. / @R SR HISd TR UTfgSt. [Option ID = 35405]
3. It must be heated / d dTafdd TIfgSId. [Option ID = 35407]

4. It must be tempered / d ¢ P grfgord. [Option ID = 35406]

Correct Answer :-
« It must be rubbed with a triangular file. / @GR TR Wl GTE TIfES. [Option ID = 35405]
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24) In synchronous generator, voltage regulation is NOT always positive for

[Question ID = 8854]

1. capacitive load /9HTE® @IS [Option ID = 35536]
2. Inductive load / 3FHT® @IS [Option ID = 35535]
3. Resistive load / UfeRIYS s [Option ID = 35534]
4. Leading load / 3T @S [Option ID = 35533]

Correct Answer :-
« Leading load / 3R @IS [Option ID = 35533]

25) Electrodynamometer Instrument measures

FATCISIA-THIHIER §gdeasd LIECICH

[Question ID = 8858]

1. DC only / ad DC [Option ID = 35550]

2. AC and DC both / AC 3101 DC [Option ID = 35549]

3. AC only / ®dd AC [Option ID = 35551]

4. Neither AC nor DC / AC 3fTf0r DC G-t ATg! [Option ID = 35552]

Correct Answer :-
« AC and DC both / AC 31for DC [Option ID = 35549]

26) Electromagnetic Interference in TN-C earthing system is

AgA-3t el Renued saRIIRS v 3.

[Question ID = 8839]

1. high / 3= [Option ID = 35473]

2. moderate / HHH [Option ID = 35475]
3. low / HIthh [Option ID = 35474]

4, very low / U &4 [Option ID = 35476]

Correct Answer :-
» high / 3= [Option ID = 35473]

27) A 3-pin socket has the largest hole of
3-fUeT Afhened wafa a1 o ° 3rd.

[Question ID = 8833]

1. Neutral or phase / gcd far ool [Option ID = 35452]
2. Neutral / <gc¢d [Option ID = 35450]

3. Earthing / 31ffTT [Option ID = 35449]

4. Phase / Tl [Option ID = 35451]
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Correct Answer :-
« Earthing / 31T [Option ID = 35449]

28) Transformer Utilization Factor (TUF) of half wave rectifier is about

3f¢f-TTS e Y[EPIVR TRIBIAR gl thaex (Iquw) 3Te.
[Question ID = 8847]

1. 1.21 [Option ID = 35506]
2. 1.41 [Option ID = 35507]
3. 0.287 [Option ID = 35505]
4. 0.406 [Option ID = 35508]

Correct Answer :-
o (.287 [Option ID = 35505]

29) Constant and variable losses in a generator are same. It is working at

SR pi<a—< 9 *NTTa 8T A 3R-IdTd. T BTH HIAT.

[Question ID = 8855]

1. 25% of maximum efficiency / PHI P& 4% [Option ID = 35539]
2. 10% of maximum efficiency / HIAI HIAeH=T 30% [Option ID = 35538]
3. 50% of maximum efficiency / ®HII Hrdemd=a Yo% [Option ID = 35540]
4, Maximum efficiency / FHHA BRIGHAT [Option ID = 35537]

Correct Answer :-
« Maximum efficiency / HHTA BRI [Option ID = 35537]

30) A collector-to-base bias circuit has the following values:-
RB = 270 kW; RC = 2.2 kW; VCC = 18 V and transistor hFE = 100.

Calculate VCE.

FATR ¢ o 9199 Hibend Wi 7o 3gd:-

3R = 270 fFalde; R = 2.2 Fs&Y; VCC = 18 V 3MfUr IR TaUws = 100.
RIS et o .

[Question ID = 8851]

1. 10.2 V [Option ID = 35521]
2. 3.51 V [Option ID = 35522]
3. 5.1V [Option ID = 35524]

4. 20.4 V [Option ID = 35523]

Correct Answer :-
e 10.2 V [Option ID = 35521]
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31) Power gain in CB configuration of transistor is

TTfarean Hidl SIFpTRIFAS UiaR 11 38,
[Question ID = 8849]

1. Very high / 3ffd=RrI 3= [Option ID = 35516]
2. High / 3= [Option ID = 35515]

3. Low / %4 [Option ID = 35513]

4, Medium / H&JH [Option ID = 35514]

Correct Answer :-
« Low / SHI [Option ID = 35513]

32) Zener diode are designed to operate under
W SHIS © Siafd ravarard} fesms o amed.

[Question ID = 8844]

1. Neither reverse nor forward bias/ Regd 3101 BIRas STGY Gt ATe! [Option ID = 35496]
2. Forward bias / BIRas §T9 [Option ID = 35494]

3. Reverse and forward bias both / ﬁ%ﬁ 30T BRAS Sy gl [Option ID = 35495]

4. Reverse bias / freed s [Option ID = 35493]

Correct Answer :-
* Reverse bias / fregd srag [Option ID = 35493]

33) Form factor for an Alternating Current is 1.11. The ratio of its RMS value to Average value will
be

JTeee T Hic AT BTH Haex 1.11 37, TTHAT ARTATY Yo ITE T oiR 3ATE.
[Question ID = 8836]

1. 1/+/2 [Option ID = 35464]
2. V2 [Option ID = 35462]

3. 1.11 [Option ID = 35461]

4, 0.732 [Option ID = 35463]

Correct Answer :-
e 1.11 [Option ID = 35461]

34) What is being represented in the given symbol?

e sngpdined ®ra g=ifavara s 3me?
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I . . .k

[Question ID = 8819]

1. Choke / 9% [Option ID = 35396]

2. Transformer / ?;'FHU»‘T‘-CTT [Option ID = 35393]

3. Variable capacitor / ®RU&d HURTER [Option ID = 35394]
4. Variable resistor / ®RU&d ¥R [Option ID = 35395]

Correct Answer :-
« Transformer / SFIHIAR [Option ID = 35393]

35) The following symbol represents

@reite g o g=faar

[Question ID = 8853]

1. XNOR gate [Option ID = 35532]
2. XOR gate [Option ID = 35529]
3. NAND gate [Option ID = 35530]
4. AND gate [Option ID = 35531]

Correct Answer :-

+ XOR gate [Option ID = 35529]

36) Insulation Resistance is length of the cable.

[Question ID = 8827]

1. Directly proportional to square of / IR YT YATOTT [Option ID = 35427]
2. Directly proportional to / Je JHTuT [Option ID = 35426]

3. Inversely proportional to / ¥ UHTUITd [Option ID = 35425]

4. Inversely proportional to square of / T S YHTOTd [Option ID = 35428]

Correct Answer :-
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« Inversely proportional to / &% UHIUNd [Option ID = 35425]

37) A long shunt compound generator has an armature, series field and shunt field resistances of
0.04 Q, 0.03 Q and 200 Q respectively. It supplies a load current of 180 A at 400 V. Calculate the
generated e.m.f. Assume contact drop/brush = 1V,

TS Wi e HUTSS d-vexqed R, Raiver fises nfor 3w 0.0¥Q , 0.03Q 31T 000 Tie fibes
RFYEA . TER Yoo FITTHAT Lo T TAHT WIS Fedl XTI HaT il TR TR S0 §.0H.TF.
Tfed picae giu/s=I=2 ). 1 e .

[Question ID = 8857]

1. 207.37 V [Option ID = 35547]
2. 414.74 V [Option ID = 35545]
3. 428.74 V [Option ID = 35548]
4. 829.48 V [Option ID = 35546]

Correct Answer :-
e 414.74 V [Option ID = 35545]

38) Soft soldering is done at a temperature
Hive Aies T ATIHTAT gIdl.
[Question ID = 8830]

1. More than 540°C / 540 Tt Sfcraw Uerm 3ifeie [Option ID = 35439]
2. Of 720°C / 720 f&3ft A3 [Option ID = 35438]

3. Below 450°C / 450 fS3t T Uem T [Option ID = 35437]

4. Of 540°C / 540 f&3t T3 [Option ID = 35440]

Correct Answer :-
« Below 450°C / 450 f&3 Ty e ST [Option ID = 35437]

39) The quantities which vary sinusoidally with time are known as

PIATIRT ATAIS S A TS BIH gral o THTOT UM oEd 9.

[Question ID = 8863]

1. vector quantities / IR HIfeciol [Option ID = 35570]
2. phasor quantities / ToR BIfediol [Option ID = 35569]
3. tensor quantities / <R ®Ifwcersl [Option ID = 35571]
4. scalar quantities / ¥ eR BIf<clsl [Option ID = 35572]

Correct Answer :-

« phasor quantities / BoR @f-ecisl [Option ID = 35569]

40) The melting point of Cadmium is

Ssfrguar faqevara foig 38,
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[Question ID = 8831]

1. 303°C [Option ID = 35444]
2. 321°C [Option ID = 35441]
3. 327°C [Option ID = 35442]
4. 302°C [Option ID = 35443]

Correct Answer :-
e 321°C [Option ID = 35441]

41) The maximum efficiency of a Class-A power amplifier is

T ¢ UTaR SfRApRGI PHG ST 3MT8.
[Question ID = 8865]

1. 75% [Option ID = 35580]
2. 50% [Option ID = 35577]
3. 66.60% [Option ID = 35578]
4. 33.30% [Option ID = 35579]

Correct Answer :-
* 50% [Option ID = 35577]

42) The gauge of super enamel wires is measured by

R T IR I A Hivd Wi,

[Question ID = 8821]

1. Wire Gauge / CIERI| [Option ID = 35401]
2. Steel Rule / &I ¥ [Option ID = 35404]
3. Try Square / <I¥ W [Option ID = 35403]
4, Screw gauge / Efﬁ\_:[ [Option ID = 35402]

Correct Answer :-
* Wire Gauge / TR TS [Option ID = 35401]

43) The decimal equivalent of (1110), is

()R TMIATHE SN .
[Question ID = 8867]

1. 10 [Option ID = 35587]
2. 12 [Option ID = 35586]
3. 16 [Option ID = 35588]
4. 14 [Option ID = 35585]

Correct Answer :-
e 14 [Option ID = 35585]
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44) The depolarizer in a dry cell is

S aus fSueRTagR 3.
[Question ID = 8835]

1. Manganese dioxide / ﬁTFﬂH@ﬂEﬂWE_s’ [Option ID = 35457]
2. Hydrochloric acid / BT8SRIGING 3TRIS [Option ID = 35460]
3. Sodium Phosphate / |If$TH ®Ihe [Option ID = 35459]

4. Ammonium Chloride / 3MHITH FIRISS [Option ID = 35458]

Correct Answer :-
« Manganese dioxide / T ST3UTRITSS [Option ID = 35457]

45) The following figure is the symbol of:-

QT TP M YD 3AT?

[Question ID = 8846]

1. Varactor diode / RIIeR TS [Option ID = 35501]
2. LED / T@SS! [Option ID = 35504]

3. Solar cell / HITR ¥ [Option ID = 35502]

4. Zener diode / SR S/IS [Option ID = 35503]

Correct Answer :-
« Varactor diode / ®dex SMIS [Option ID = 35501]

46) The following figure represents:-

@reitd T o1a gxifaa?
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[Question ID = 8832]

1. Neutral or phase / cd fhar o [Option ID = 35448]
2. Neutral / J¢d [Option ID = 35446]

3. Earthing / 31fTT [Option ID = 35445]

4. Phase / B9f [Option ID = 35447]

Correct Answer :-

« Earthing / 31T [Option ID = 35445]

47) The following figure depicts:-

@ritd foama sy eRifae ame?

(=]

[Question ID = 8825]

1. Tumbler type single way switch / SeR e84 U<t AR f&ad [Option ID = 35418]
2. Fles Type Two Way Switch / T €184 ga<l AT & [Option ID = 35420]

3. Intermediate switch / gexfiforee Rag [Option ID = 35417]

4. Bed switch / 98 %4 [Option ID = 35419]

Correct Answer :-
« Intermediate switch / Sexfforge faa [Option ID = 35417]

48) The following truth table represents:-

QTdid 3Y cgaued § SRIauard STa 3Te:
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Input Output E
A B Y
( 0 0 s
. | | -
| 0 |
| | 0

[Question ID = 8852]

1. OR gate [Option ID = 35528]

2. NAND gate [Option ID = 35526]
3. XOR gate [Option ID = 35525]
4. AND gate [Option ID = 35527]

Correct Answer :-
e XOR gate [Option ID = 35525]

49) The unit of inductance is Henry but the unit of Inductive Reactance is

FSqE-T d UHP g3l 308 TR §8facd Rfee~R{udd ___ 3(R.
[Question ID = 8862]

1. Henry per meter / o Ut Hiex [Option ID = 35566]
2. Ohm / 3{igH [Option ID = 35565]

3. Ohm meter / 3fgH HIex [Option ID = 35567]

4. Ohm per Henry / 31gH Ud g1 [Option ID = 35568]

Correct Answer :-
« Ohm / 3{igH [Option ID = 35565]

50) Rubber valve of artificial respirator must be operated

POT ygTEAIvER @ quRan uifee.

[Question ID = 8818]

1. 15-20 times/minute / R4-R0 de51/fAfAE [Option ID = 35389]
2. 2-4 times/minute / -¥ de51/fifAe [Option ID = 35390]

3. 60-90 times/minute / §o-{o da51/fHfe [Option ID = 35392]
4. 45-60 times/minute / ¥4-&o da1/fHfe [Option ID = 35391]

Correct Answer :-

« 15-20 times/minute / 34-30 9&1/flfe [Option ID = 35389]

Topic:- MAIN_Marathi Language
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1) AR TTeTd 1 SHIRT Y 3ol

[Question ID = 8771]

1. §&<1 [Option ID = 35202]
2. H1™T [Option ID = 35201]
3. ©IST [Option ID = 35203]
4. §9 [Option ID = 35204]

Correct Answer :-
« &I [Option ID = 35202]

[Question ID = 8770]

1. 3{T8 [Option ID = 35197]
2. JdT [Option ID = 35200]
3. Ut [Option ID = 35198]
4, 98Id [Option ID = 35199]

Correct Answer :-
« Tl [Option ID = 35198]

3) WYE-WIHIAP , a3-
gfagr - 2

[Question ID = 8778]

1. %14 [Option ID = 35229]
2. UfeTRI® [Option ID = 35230]
3. AT [Option ID = 35232]
4, YR [Option ID = 35231]

Correct Answer :-

« UfagIRI® [Option ID = 35230]

[Question ID = 8773]

1. §¢ [Option ID = 35212]
2. Gl [Option ID = 35209]
3. HIF [Option ID = 35210]
4, HIWR [Option ID = 35211]
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Correct Answer :-
« I [Option ID = 35212]

5) foq Tu ufvyw vaa. a1 IR UBR S,
[Question ID = 8780]

1. BrRIdf [Option ID = 35240]
2. 3GRAME® [Option ID = 35239]
3. BRI [Option ID = 35238]
4. gsmfe [Option ID = 35237]

Correct Answer :-

« BIHRIA [Option ID = 35240]

[Question ID = 8789]

1. JUg+3{Hd [Option ID = 35276]
2. qug+ditdf [Option ID = 35275]

3. gUO+3&® [Option ID = 35274]
4. qug+roff [Option ID = 35273]

Correct Answer :-
o JUY+3{Hd [Option ID = 35276]

[Question ID = 8783]

1. J¥Y [Option ID = 35250]
2. Uit [Option ID = 35251]

3. QK& [Option ID = 35252]
4. 98! [Option ID = 35249]

Correct Answer :-
+ & [Option ID = 35252]

[Question ID = 8788]

1. f§7 [Option ID = 35271]
2. 3HUHTG [Option ID = 35269]
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3. HHERY [Option ID = 35270]
4, g ATEY [Option ID = 35272]

Correct Answer :-
« HHERY [Option ID = 35270]

[Question ID = 8779]

1. QeI adl diR [Option ID = 35235]
2. 3fdiedI AR [Option ID = 35234]
3. Udiib Sl R [Option ID = 35233]
4, QT ATEY [Option ID = 35236]

Correct Answer :-

+ Tdidadl dR [Option ID = 35233]

10) Yeid arardia uynd® vty e,

TP EASITET /T4 a1 Ir@ra.
[Question ID = 8786]

1. AIPEISITE HUET SUHM B 4. [Option ID = 35262]

2. JAFEISITET HIF Fal= I@IIAT Fb1 H1? [Option ID = 35261]

3. 3(efei! JIPEASTET HIF HaiHT I@ET ufgel. [Option ID = 35263]
4, QT ATET [Option ID = 35264]

Correct Answer :-
o TGS A -t IRGTIAT b BT? [Option ID = 35261]

11) Ya arearar greridf wafy siesar.
AN TS TYUT SR BT ag 14?2

[Question ID = 8784]

1. IV TS FURAd dg 74, [Option ID = 35255]

2. I G ST BV JdT. [Option ID = 35253]

3. I TGS 3TUU] FURAd d9—dT Uifgl. [Option ID = 35254]
4. YUY ATeT [Option ID = 35256]

Correct Answer :-

o I SYH SYUT BV IR Ulfgal. [Option ID = 35254]
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YeRasT

[Question ID = 8774]

1. G1d f&a¥iar ¥9g [Option ID = 35213]
2. UeRT faawidan 9Hg [Option ID = 35215]
3. T} TGl [Option ID = 35216]

4. g feagidn 9qg [Option ID = 35214]

Correct Answer :-

o TeRT feadi=n §HE [Option ID = 35215]

[Question ID = 8775]

1. 890 [Option ID = 35218]
2. J&U [Option ID = 35217]
3. USUI [Option ID = 35220]
4. Y10 [Option ID = 35219]

Correct Answer :-
« BIUI [Option ID = 35218]

14) Yd el sqrar WISt ufarss feorgr.

L2

< -
[Question ID = 8776]

1. ¥RT [Option ID = 35223]
2. UIT [Option ID = 35224]
3. dX [Option ID = 35221]
4, §Id [Option ID = 35222]

Correct Answer :-
e X [Option ID = 35221]

[Question ID = 8772]

1. Uq [Option ID = 35208]
2. UIg [Option ID = 35205]
3. §Id [Option ID = 35206]
4. UI&d [Option ID = 35207]

Correct Answer :-
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« TS [Option ID = 35207]

[Question ID = 8781]

1. 31f9 [Option ID = 35241]

2. ST [Option ID = 35242]

3. HHARAT [Option ID = 35243]
4. YUY 8T [Option ID = 35244]

Correct Answer :-
o HHIRI [Option ID = 35243]

17) eTd 9 SYUMRT Vg 3fie5al.
[Question ID = 8787]

1. IHT [Option ID = 35266]
2. AT [Option ID = 35268]
3. T[qTsil [Option ID = 35265]
4, 9T%hT [Option ID = 35267]

Correct Answer :-
o T d [Option ID = 35265]

18) ‘&R’ &1 YT 19 dUR SAdT a9 ggiy sfiesar.

[Question ID = 8777]

1. "It [Option ID = 35227]

2. IIYR [Option ID = 35225]

3. T} ATEl [Option ID = 35228]
4. PR [Option ID = 35226]

Correct Answer :-
« JHSBR [Option ID = 35226]

19) U1 fR™RR sraer yafy sNesaE.
3ol WU fRrvgid RAYR 39!,

[Question ID = 8782]

1. IO ATEY [Option ID = 35248]

2. 3Tt UM, "THugid RAYR 341’ [Option ID = 35247]
3. 3fTSTt TEUMa, fAuaid TRAYR 3R, [Option ID = 35245]

4, 3ot TEUTE, fHugid TRAYR 3RIAT? [Option ID = 35246]
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Correct Answer :-

o 3ol WU, TaHugid IRAYR 3L’ [Option ID = 35247]

20) Iy fRMfee srden yafy siiewr.
a1 IRIF & AT AR fabedt
[Question ID = 8785]

1. a8, IR o AT 3R fbdi?' [Option ID = 35257]
2. dTs! IR o AT 3fcR fell. [Option ID = 35259]
3. 19! ATEl [Option ID = 35260]

4, 18, RS o AT iR fadil? [Option ID = 35258]

Correct Answer :-

. TS, TIRIG  ATCHTE 3faR faeit?' [Option ID = 35257]

Topic:- MAIN_LR

GET IT ON
Google Play

1) Which of the following pair exhibit the same relationship as exhibited by the given pair of words:

Doctor : Nurse

"3 gxifadedr Ysarar SSIYHTO Wreltd BT Sieid Say gxifaar 3mg?: siaes: 7 "
[Question ID = 8989]

1. Director : Actor / f&7e=i@: 3T [Option ID = 36075]
2. Author : Reader / RaF: D [Option ID = 36074]

3. Police : Criminal /tﬁFﬂﬂ: ﬂ%TI'IT [Option ID = 36076]
4, Student : Teacher / faemft: Rrerew [Option ID = 36073]

Correct Answer :-

« Director : Actor / feTaiar: if¥=aT [Option ID = 36075]

2) Which of the following diagrams indicates the best relation between India, Earth and Milky way?

WIATI®! BV TPt YRe, Yt T STHT=RITT i waiaw Wey grifaa?

[Question ID = 8985]

| Il‘_l II'-,' .|
1. ™" [Option ID = 36058]
2. [Option ID = 36059]

©

3. [Option ID = 36057]
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QO

4. O [Option ID = 36060]

Correct Answer :-

.. [Option ID = 36057]

3) Dev, Rahim, Kaur,Archit, Sneha, Khushi, Esha, and Rajiv are sitting around a circle, facing at the
center, in an interview. Kaur is immediate right to Dev, Who is 4t to the right of Archit. Sneha is 2"

to the left of Dev and is 4" to the right of Esha. Khushi is 2Md to the right of Rahim, who is 2" to the
right of Rajiv. Who is third to the right of Dev.

39, AW, B, enffa, Jer, G=h, S 3nfor Afra weT gamradia M B 31d 9IS & 9 3Rd. PR
STTT A AR IS JISET gt 3MTe, St SMfaurg ¥t 3. WeT Sa=an ST Srefen ga=ur 38 3
3(TfoT ST Iotaat arefan ¥t oire. Rt Mg Ieret arsen ¥ 3R, TSiaTAT SSTST STS[ET % BT 3TE,
ST IS STSET 3T HHIPTAR BIUT 33?2

[Question ID = 8982]

1. Rajiv / I1Sftd [Option ID = 36047]
2. Rahim / Y&19 [Option ID = 36046]
3. Sneha / H&T [Option ID = 36045]
4. Archit / 3MTf<id [Option ID = 36048]

Correct Answer :-
» Rajiv/ 3oig [Option ID = 36047]

4) Kajal starting from her house, goes 6 km in the East, then she turns to his left and goes 3 km.
Finally she turns to her left and goes 6 km. Now how far is she from her house?

FHIod e TRIURIA YRY Hd, a9 6 {5t 914, AR & sTdtws g snfor 3 fedt wira. sradi < faen
SIS qesd 3T 6 faet T, 3rmar ot feream wRTuREA fardt gR ammg?

[Question ID = 8969]

1. 5 km / 5 f&HT [Option ID = 35993]
2. 2 km / 2 f&# [Option ID = 35995]
3. 6 km / 6 faoHl [Option ID = 35996]
4. 3 km / 3 fodt [Option ID = 35994]

Correct Answer :-

« 3 km/ 3 f&Ht [Option ID = 35994]

5) When the given figure is folded in a shape of dice then answer the following.

Q) What number will be opposite to 5?
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QT TPt BIRATAT ATHRTT GRS T, Wi 4T I <.

UY) & =T JHIR SV ST 3rHaA?
s
2 3
i

[Question ID = 9005]

1. 1 [Option ID = 36137]
2. 4 [Option ID = 36140]
3. 2 [Option ID = 36138]
4. 3 [Option ID = 36139]

Correct Answer :-
e 1 [Option ID = 36137]

6) Analyze the following situation and give your reaction:-

You live in a society. You find your neighbor so annoying that you can't concentrate on your work
and can't live in peace, you will?

@reite g fagavor 31 afor smueht ufaferar =m:-
3(TYUT TehT JIATAE] IGTATd. TUAT ASTR] TFel ATUSTAD 3Tg 1 YT ATYT HTHTGR A& Piad B Uhd
ATEY SO RMiedd o] Xrbd AT, R STYUT & HRIA?"

[Question ID = 8979]

1. None of these / aTde! Udhg! AT8! [Option ID = 36036]

2. Complain about it to the chairman of society. / @ldgd T el ihs dhR BRI, [Option ID = 36033]

3. Talk to them and tell them about difficulties you are having due to them. / T=ATRIt S rETaT BIOT=AT AT
TTfgdl i e, [Option ID = 36034]

4. You will get angry and pick up a fight with them. / THTAT AT TS d SATOT TreT ATATRA ARTART HI. [Option ID
= 36035]

Correct Answer :-
+ Talk to them and tell them about difficulties you are having due to them. / &Rl i T BT
ATl ATl T T, [Option ID = 36034]

7) Analzye the following statements and then answer the question.

if "Chin Pu Do Tou" is the code for "Ship is in ocean"
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"Su Tou Pu Ro"is the code for "Pacific ocean is biggest"
"Mo Pe Na Ho Do Cho" is the code for "Sailing against wind in the night"

Then, "Is Pacific biggest ocean ship in night" is coded as:-

1)Pu Su Tou Ho Do Cho Ro

2)Pu Su Ro Tou Chin Do Cho
3) Su Ro Chin Tou Do Cho Pu
4) Ro Tou Chin Po Do Su ro .

Wreite qreaTs fagawor &7 foT Hav U= IR @ 1.

SR "Chin Pu Do Tou"gT ®1$ “dic JYTd 3" AT3! 3 d,
"Su Tou Pu Ro"gT $18 “Ufifire Tys Tald AieT Me” ISt 34,
"Mo Pe Na Ho Do Cho" 3T ®1s "R a1 faes faRA vary a0t aradt s,

T URifpe g IR TygTdia gafa 7id} dic 3me” THd! $1 Bie &w?

1) Pu Su Tou Ho Do Cho Ro

2) Pu Su Ro Tou Chin Do Cho
3) Su Ro Chin Tou Do Cho Pu
4) Ro Tou Chin Po Do Suro .

[Question ID = 8995]

1. 1 [Option ID = 36097]
2. 4 [Option ID = 36100]
3. 2 [Option ID = 36098]
4. 3 [Option ID = 36099]

Correct Answer :-
e 2 [Option ID = 36098]

8) Re-arrange the following letters to form a meaningful word.

"ONMRGNI"

" 37Ut FTTS! YEIe SiaR YBT-oqafeyd av.
" ONMRGNI "
[Question ID = 9006]

1.2,1,4,5,7,6,3 [Option ID = 36142]
2.3,1,4,2,7,6,5 [Option ID = 36141]
3.7,6,5,4,3,2,1 [Option ID = 36144]
4.1,4,5,3,7,6,2 [Option ID = 36143]

Correct Answer :-
e 3,1,4,2,7,6,5 [Option ID = 36141]

9) In a certain code If "THONDA" is coded as "KLQAD". Which is the code for "KITE"?

R TETT Aibdid UTHHSA "HONDA" BT g "KLQAD" TEU[H dTuxdl. “KITE” "KITE" IT H1S HIUET 3(T?
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[Question ID = 8972]

1. ANKR [Option ID = 36008]
2. JTRN [Option ID = 36005]
3. NFWB [Option ID = 36007]
4. XDEB [Option ID = 36006]

Correct Answer :-
 NFWB [Option ID = 36007]

10) In a movie fair, there are some people. 80 of them Loves DC, 90 loves Disney while 100 loves
Marvel movies. If 40 loves both DC and Disney, 35 loves Disney and Marvel while 30 loves Marvel
and DC. If 10 loves all the three, then what is the total number of people present there? If everyone
loves at least one.

it B3RU PTE! AP R, WTADT ¢o HuHT St rasa, Qo HUNAT f$R 3masal 3Mfor 200 Sur=T Urda
YT ATTSATd. Yo SUTHT STt fOT fEH gt masard, 3w Sori=T {5 S1for ardat gigt 3MfoT 30 Syori=
arda ST SRt gL SasaTd. iR 2o SIUTHT 94 fagl Sasd did av a4 TP fhdl el Sufeud
3Med? SR Y@l fHHH T 3asd.

[Question ID = 8993]

1. 250 [Option ID = 36090]
2. 200 [Option ID = 36089]
3. 175 [Option ID = 36092]
4. 135 [Option ID = 36091]

Correct Answer :-
e 175 [Option ID = 36092]

11) Arrange the following in orderly manner:-

1) Brain

2) Stomach

3) Knee

4) Foot

5) Vocal chords

@reitd qaqis! gy Aiguft &1
1) #g

2) Ui

3) s
4) UTgTHET de54T

5) TR
[Question ID = 8994]

1. 1,2,3,4,5 [Option ID = 36093]
2. 1,3,2,5,4 [Option ID = 36096]
3.1,5,2,3,4 [Option ID = 36095]
4. 1,4,5,3,2 [Option ID = 36094]
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Correct Answer :-
« 1,5,2,3,4 [Option ID = 36095]

12) Six people are sitting in a row, they are Archit, Akshay, Naman, Naveen, Karan, and Deepak. It
is also known that there are as many people between Akshay and Naveen as there are between
Karan and Naveen. The only person between Archit and Naman is Naveen. Karan is sitting
somewhere to the right of Akshay. Who is Definitely sitting at the end of row?

3nfdd, srem, A, A1, ST AT STues T HET AT NS THT 3Med. &y AT Td= greawed
1T suedt emgd faaeama saaril ®wor 3for A4 greaTa sed. Snfia Sfor 99 giaHed o Uepd ekl
T 3T, BT AT IAATDHS PSR! AT P, AR AT TS NGt B0 g 3ATg?

[Question ID = 8970]

1. Akshay / 3{&d [Option ID = 35997]

2. Deepak / &I [Option ID = 35999]

3. Karan / &0l [Option ID = 35998]

4. None of these / TTU! Tehg! AT [Option ID = 36000]

Correct Answer :-
« Deepak / &g [Option ID = 35999]

13) By how much degree minute hand is ahead of hour hand in 1 minute?
fafe wrer { fftera T Srearen fFdt M ge s
[Question ID = 8976]

1. 6 Degree / 6 3i= [Option ID = 36022]

2. 11/ 2 Degree / 11 / 2 3i®I [Option ID = 36023]
3.7/ 2Degree/7/2 3 [Option ID = 36024]
4, 7 Degree / 7 3i=T [Option ID = 36021]

Correct Answer :-
e 11/ 2 Degree / 11 / 2 3= [Option ID = 36023]

14) There are 6 people Archit, Naveen, Akshay, Naman, Deepak, and Prashant. Archit is taller than
Akshay. Naman is shorter than Deepak. Deepak is taller than Prashant. Prashant is shorter than
Naman but taller than Naveen. Naman is taller than Archit. Naveen is shorter than Akshay.

Who is tallest among all?

3if<fa, 1A, 3rera, 9, iU, U=Iid =T & ST Ted. UfHd feruem I9 M. THA I Susden HH
31e. Sue yRIiauen 39 3. WRIad! ST THA Qe S 38 9T aY AT I 3R, 7 rfRfavan 99
3T, I It Sr&raue T HHt 33,

Haid 99 ST 3MMe?
[Question ID = 8973]

1. Naman / TH [Option ID = 36010]
2. Akshay / 3{&d [Option ID = 36011]
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3. Prashant / URIid [Option ID = 36012]
4. Deepak / &Ud [Option ID = 36009]

Correct Answer :-
+ Deepak / GUeh [Option ID = 36009]

15) There is a group of 7 people, 3 plays basketball while 4 plays cricket. They all are standing in a
queue for name registration from Right to left. If no cricket player can be at last position from both
sides. No basket player can stand adjacent to each other and if one cricket player is standing at 3"
position from left and no 3 cricketers can stand together in the row.

Question : Sum of positions of all the basketball players standing from the right will be?

"o AIHTET TH TIE AR, WIAP! 3 TRPeaId Weodld, R ¥ fhdbe @oodrd. o Td A1g Aiguiard Ifa

e g SHdlds 3H 3Ted. SR fibdbe WooTg Gl aTS(AT ATt IHT AR IS d A4d, G dRbeaid WodTg
THADAT USRI I E Hd AT AT TP fopbe WooTg SAIH g 30T HHIBIER 3 ATIOT 3 fhdrew
I S IY Sredia.

UY: Sodie g SWT AT TRbedasl BTG S THUT JB fahedtz?

[Question ID = 8990]

1. 10 [Option ID = 36077]
2. 12 [Option ID = 36080]
3. 15 [Option ID = 36079]
4. 9 [Option ID = 36078]

Correct Answer :-
e 12 [Option ID = 36080]

16) A cube Completely painted from outside then the cube cut into 343 pieces, then the number of
cubes whose atleast 1 face is painted is:-

TS FSdT STg¥dl HRT guio! AT 8. HdR AT 3¥3 s HRuAmd Td, o fear a1 Wifaadt
3rg o et ”ge sraeltar?

[Question ID = 8997]

1. 218 [Option ID = 36108]
2. 100 [Option ID = 36105]
3. 125 [Option ID = 36106]
4. 130 [Option ID = 36107]

Correct Answer :-
e 218 [Option ID = 36108]

17) A boy has Rs 700 in the denominations of Rs 5, Rs 10, Rs 20 .The number of notes of each
denomination is equal. What is the total number of notes that he have?

THT ATITRIT THUT 3. 900 SADI TGHH YA WA ¥.4, .20, &.30 =T AT gd. YD IHHAT Aleidl
=T JHH 3T, ATreATaTRit THur fadt et sradia?

[Question ID = 8992]
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1. 100 [Option ID = 36087]
2. 50 [Option ID = 36085]
3. 60 [Option ID = 36086]
4. 40 [Option ID = 36088]

Correct Answer :-
» 60 [Option ID = 36086]

18) 1f 25t december 2017 is Monday, then 10 march 2020 will be:-

25 fEAeR 2017 AHARY 3 @ 10 A 2020 ST JAA?
[Question ID = 8978]

1. Monday / SR [Option ID = 36029]

2. Sunday / XfdaR [Option ID = 36032]

3. Tuesday / HiTe3dR [Option ID = 36030]
4. Wednesday / §4YdR [Option ID = 36031]

Correct Answer :-
 Tuesday / HT&dR [Option ID = 36030]

19) A polygon has 8 vertices, how many diagonals are there in the polygon?

ST IYST STt ¢ RRIEG amed. o= @1 snpeia et wof Yur smgar
[Question ID = 8974]

1. 22 [Option ID = 36014]
2. 20 [Option ID = 36013]
3. 18 [Option ID = 36016]
4. 14 [Option ID = 36015]

Correct Answer :-
e 20 [Option ID = 36013]

20) Find the statement that must be true according to the given information.

Ramesh has a paper route. Each morning, he delivers 40 newspapers to customers in his
neighborhood. It takes Ramesh 55 minutes to deliver all the papers. If Ramesh is sick or has other
plans, his Cousin Suresh, who lives on the same street, will sometimes deliver the papers for him.,

fedrear MiTATaR R ad fAu™ Hiord F Fim.

AT IAATUS IICUATET U AT 3018, IS HohTod! df AT STaesUTa=dT UTgeh T Yo TdAUA aIreuddl.
T AT qrevarITSY TATET wy fIfe anTard. R et SreuTy fhaTr HT8) Sav ST ST, |Td
@10l IFURT @ WS PR Fiiedt wremiasht adaFTER aeasRdl.

[Question ID = 8983]

1. Suresh would like to have his own paper route. / IXRTAT el WA 91 FAHHYAET AT 3TdSd. [Option ID =
36052]
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2. It is dark outside when Ramesh begins his deliveries. /Tﬁ'ﬂ =dTd Dl degT S1eR HIBIG 3! [Option ID =

36051]

3. Ramesh and Suresh live in the same neighborhood. / T8I T YT ThTd f&eToft Igard. [Option ID = 36049]
4, It takes Suresh more than 50 minutes to deliver the papers / iji*l &l SAHFIS JevarTat wo e SRd

AMTdTd. [Option ID = 36050]

Correct Answer :-
+ Ramesh and Suresh live in the same neighborhood. / YHRT T YRR T 30T 1gdTd. [Option ID = 36049]

21) Find the missing image.

MBATT AT TPt DI o JiI.

—— =
— P

[Question ID = 9001]

3.°

4.

P
i bi
T
et

F—

Il!—\'

[Option ID = 36123]

[Option ID = 36122]

* [Option ID = 36124]

U

[Option ID = 36121]

Correct Answer :-

Py

| [Option ID = 36123]

22) Find the missing image.

MBART AT TPt DI o JiI.

[Question ID = 8988]

[Option ID = 36072]

[Option ID = 36071]
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3. [Option ID = 36069]

4, [Option ID = 36070]

Correct Answer :-

. [Option ID = 36070]

23) Find the missing image:-

TS AT STt TPl BIvL o i
I I
2

[Question ID = 9000]

1. E [Option ID = 36118]

2. [Option ID = 36117]
rd

3. [Option ID = 36119]

4, L1 [Option ID = 36120]

Correct Answer :-

. [Option ID = 36119]

24) Find the missing image :-

MG ST TPt DI o JiI.

B C
G °
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[Question ID = 8977]

) §
1. [Option ID = 36025]

D

2. [Option ID = 36028]

E

3. [Option ID = 36027]

L

4. .— [Option ID = 36026]

Correct Answer :-

. [Option ID = 36027]

25) Find The missing image:-

AT STt 3THdl BIUT o .
<
= "/,_,.-’

[Question ID = 8987]

1. [Option ID = 36066]

<

2. [Option ID = 36065]

3. E [Option ID = 36067]

)
| —

4. /1 [option ID = 36068]

Correct Answer :-

| —

. /I [option ID = 36068]

26) Find mirror image of following :-

Qrdie STepetdl e Ul TYm:-
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PR

[Question ID = 8984]

1. [Option ID = 36054]
L
-
2. [Option ID = 36056]
3. [Option ID = 36053]
fn 0.
B
4, [Option ID = 36055]

Correct Answer :-

A9

. [Option ID = 36053]

27) Find mirror image :-

@eitel STHdrdl ae Ufagpe QM-

T IR i eee

[Question ID = 8999]

3

1. [Option ID = 36115]

=

2. [Option ID = 36114]
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3. [Option ID = 36116]

My

4, [Option ID = 36113]

Correct Answer :-

. [Option ID = 36115]

28) Anu told Akshay "He is half of the age of Ram's at present and Ram's age is quarter the age of
his parents combined ". If mother's age is 32 years and father's age is quarter more than the age of
mother. What is the age of Anu?

S SMETT FRad St SMTaT @ 99 I7F=T A 3 for IR 99 AT NS afSdiean aaredT dvoed] Ud-
agufsr 3R, IS a9 3R 9 S Ad 3T afsei™ v STSeaT JUTIET UHh-agufsr St raeurd, 32 au
fodr?

[Question ID = 8975]

1. 9 year / 9 ¥ [Option ID = 36019]
2. 4 year / 4 a4 [Option ID = 36020]
3.2 year / 2 @ [Option ID = 36018]
4.5 year / 599 [Option ID = 36017]

Correct Answer :-
e 9year/9 CL [Option ID = 36019]

29) What was the day of week on 19 November 1994?

2R IR R Y ISt PV IR grar?
[Question ID = 8998]

1. Saturday / ¥IMdR [Option ID = 36111]
2. Monday / SHaR [Option ID = 36109]
3. Sunday / IfdaR [Option ID = 36112]

4, Tuesday / HTe5dR [Option ID = 36110]

Correct Answer :-
« Saturday / AR [Option ID = 36111]

30) Read the given conditions carefully and give answer:-

Performance of a laptop can be given by:-

1) Laptop has a cost price of 50,000 rs and comes at 10% discount on christmas.
2) Laptop has 4GB ram,1 TB Hard disk,1 GB graphics card.
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3) It will be used for playing heavy games and multi process.

PIBoIgad foaedr 3l aram ST IR .
UHT AU Srierar:-

1) HUerus! fHud 50,000 TR 3T 3T TR ATATSTT 0% TE 3TE.
2) JUeTyAed 4 Siidl ¥, 1 A 318 fovp, 1 st vy #18 are.
3) T 2dt R 3fOr Aot MRS IUNT a1 Jsd.

[Question ID = 9004]

1. Only 1 is sufficient / %aes 1 GRY 3{Tg [Option ID = 36133]
2. Only 3 is sufficient / %ae 3 G 318 [Option ID = 36135]
3. Only 2 is sufficient / %ae 2 G 318 [Option ID = 36134]
4. None of these / AU HTatal ATal [Option ID = 36136]

Correct Answer :-
e Only 2 is sufficient / $aD 2 Eﬁﬁ 3 [Option ID = 36134]

31) Read the statement and answer.

1) No table is chair
2) All chairs have 4 legs.

Conclusion:-
1) No table have 4 legs
2) Some chairs are table

"f3YT= 9T STfor I .

1) $ood ¢ad @ Al AT,
2) Id gl 9rR Ui e,
forep: -

1) HIUTATE STATAT 4 UTT AT
2) FT8! Geat ad 3iTed.

[Question ID = 8996]

1. Both 1 and 2 follows / 1 30T 2 AT GIg! WIATAYHTUl [Option ID = 36103]
2. Only 2 follows / %des 2 WIAIAYHIU! [Option ID = 36102]

3. Only 1 follows / $de 1 WTATTYHTO! [Option ID = 36101]

4. None of these / T Udhe! ATal [Option ID = 36104]

Correct Answer :-

« None of these / T Tehg! ATG! [Option ID = 36104]

32) Read the statement and answer.

1) All mobiles are iphone.
2) Some iphones are hackable.
3) Some hackable are mobiles.

Conclusion:-
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1) Some mobile are hackable.
2) Some hackables are iphone.
3) Some hackable are not mobile.

faem=r arar anfor IR -

1) 99 MESa ATABI 3MTed.
2) FIE! ATABIF TP HIVINY 33d.
3) FTE! §F HIVITUNY HESd 3MMad.

forep: -

1) FTE! MATSA TP HIVATINY 3ATgd.
2) FIE! TP HIVIRNY MABIA 3.
3) PIE! §b HYVIMNY Hiarsd AN

[Question ID = 8971]

1. Only 2 follows / e R 3IERT [Option ID = 36002]
2. Only 3 follows / Ta 3 3JERTd [Option ID = 36003]
3. All follows / d Tg, [Option ID = 36004]

4. only 1 Follows / e ¢ 3f¥RTd [Option ID = 36001]

Correct Answer :-
« All follows / 94 g, [Option ID = 36004]

33) Read the statement and answer :-

1) Some tomatoes are red.
2) All red are ripe.

Conclusion:-
1) All tomatoes are ripe.
2) No tomatoes are ripe.

faem= arar anfor IR 1.

1) HTE! SHel a1 3MTed.
2) 94 19 fUsaa 3med.

e -
1) 94 el fUwaa 3med.
2) el e Ardla.

[Question ID = 8986]

1. Both 1 and 2 follows / 1 30T 2 T Gl WIATAYHTUl [Option ID = 36063]
2. Only 2 follows / ®ad 2 QT AYHTor [Option ID = 36062]

3. Only 1 follows / $de 1 WTATTYHTO! [Option ID = 36061]

4. None follows / PTelg! AT8! [Option ID = 36064]

Correct Answer :-
« None follows / ®Telal ATal [Option ID = 36064]
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34) Read the following statement carefully and answer the question following:-

A is the father of C, but C is not his son.B is the daughter of C. Z is the wife of A. M is the brother of
C. N is the son of M. L is the wife of M. T is the father of L.Who is Grandmother of N?

gt faUT Hroooiiyde arar for Wreild Uy SO <m: -

A T C 91 fUar 3rmg, Uig C T/ eI ATet. B § C @ $=ureng . Z g1 A. T Ual 318, C a1 UTS M 3ATe. NETM
T T 311, L &1 M o} Ut 318, T & L ¥ 9SId 318 | N o 3ATSit Hior?

[Question ID = 8980]

1. N [Option ID = 36039]
2. A [Option ID = 36037]
3. C [Option ID = 36040]
4. M [Option ID = 36038]

Correct Answer :-
e A [Option ID = 36037]

35) Pointing at a picture Shalini said to Rohan "The man standing at back holding the waterbottle is
brother of your only sister's mother while man standing in left of him is the only son in law of that
man's father , who is on the right, and the one sitting at bottom is the brother of the person on left."

Q) How is Rohan related to the person on left.

e s wige e T wummett, “uTuaTH! STedl FTaTd eRAET UTSTHTT IUT ST HIVH §1 §3T UHag
qigviien TEaT TS, 3T TR W1 STAIdhs IUT AT HIVH BT T HIURITHT af$aidr THHd Sds 3M1g, S
IodiPs 3Te, SATOT WIeltd AT ATV BT STAIPS SRTAeT HIVHTET HTS, 3M8.”

W) STAIPS AT HIUTHTRT g AT $1I?
[Question ID = 9003]

1. Son / G [Option ID = 36129]

2. Father / Sid [Option ID = 36130]

3. Cousin / Jad T3, 3YdT §GIUT [Option ID = 36131]
4, Uncle / @Il [Option ID = 36132]

Correct Answer :-
e Son / &I [Option ID = 36129]

36) Pointing to Sarla, Ridhima said, "She is the only daughter of my Father's only daughter”. How is
Ridhima related to Sarla?

WATHS AE= B Reftrar wgomedt, “dft wrgan afsaiear vpamn te gar ugpadt uh gaiht omg.” Rftam
TRATRM A1 1?2

[Question ID = 8991]

1. Aunt / ATa=f [Option ID = 36083]
2. Mother / 31Ts [Option ID = 36081]
3. Sister / §BIUT [Option ID = 36082]
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4. Neice / Ut [Option ID = 36084]

Correct Answer :-
« Mother / 31T$ [Option ID = 36081]

37) If "ARMSTRONG" is coded as "ZINHGILMT" Then "VXPU" will be coded as:-

R TETEl Hichdi® UTGHe "ARMSTRONG" T Xeg "ZINHGILMT" WU aIuRdl. o "VXPU" TT HIS
PIUTAT AT?

[Question ID = 8981]

1. ECKF [Option ID = 36044]

2. CEDR [Option ID = 36041]
3. MORN [Option ID = 36042]
4. NODE [Option ID = 36043]

Correct Answer :-
o ECKF [Option ID = 36044]

38) Ankit, Becky, Chinku, Deepu, Eli, Fancy, Golu and Himanshu are sitting around a circle facing to
center. Fancy is third to the right of Chinku and second to the left of Himanshu. Deepu is not an
immediate neighbour of Chinku or Himanshu. Eli is to the immediate right to Ankit, who is second to
the right of Golu.

Question :- Who is sitting between Golu and Deepu?

sifera, a@1, fig, fag, seit, B=iY, Mg enfor fewig) 8 vt Meriiadt quafiges dis o aud smRa. b=t
B! e Sordiwrs faadt s snfor fewixEn srdiws gast ae. iy & fiw fHar iz @ A=
FHA! ATEY. Tt Sifdrdar aia Iodidps qHe 3T ST <t M= Sudies ga=al SHHIBIAR 3Tg.

TH: - T 3TOT <Y Tiear Hel BT a9 3MTe?
[Question ID = 9002]

1. Himanshu / fgHY [Option ID = 36127]
2. Becky / 9! [Option ID = 36126]

3. Fancy / =T [Option ID = 36128]

4. Ankit / 3ifabd [Option ID = 36125]

Correct Answer :-
« Fancy / =4t [Option ID = 36128]

39) If 5 people Arjun, Karan, Ankur, Rajiv, and Nikhil are standing in a queue. If Arjun is standing
between Ankur and Karan. Rajiv is standing at extreme left. Nikhil is standing at just right to Ankur.
Karan is standing at just right to Rajiv.

Who is on third position from left?

3, BRI, AP, ITeita TOT AR v IU SR, SR (Sl 3B STIOT HUT YieaT Hed 3M1g. WSiid AT
TIPS IUT 3Te. T 3ig=ar ag Iodics 37, BV ISiaedT T SodIhs SUT 3ATE.
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TP g farT Fivr ame?

[Question ID = 8968]

1. Nikhil / FRg< [Option ID = 35992]
2. Ankur / 3[R [Option ID = 35990]
3. Karan / X0 [Option ID = 35989]
4, Arjun / 391 [Option ID = 35991]

Correct Answer :-
« Arjun / 3{S{9 [Option ID = 35991]

40) If 5 people Arjun, Karan, Ankur, Rajiv, and Nikhil are standing in a queue. If Arjun is standing
between Ankur and Karan. Rajiv is standing at extreme left. Nikhil is standing at just right to Ankur.
Karan is standing at just right to Rajiv.

Who is at the most right direction?

3G, BRI, PR, ITeita TOT AR T IW SMRd. R 3ol T 3IPR T T giedTd IUT 3T ax Weiid
ST I IUT 3Te. T sigr=ar Iudiws 1. HII Ieliaeal SudIhs 3TE.

Hald Iadies HIvT 3MR?

[Question ID = 8967]

1. Rajiv / ITSild [Option ID = 35987]
2. Nikhil / fAf3e [Option ID = 35985]
3. Karan / ®XUT [Option ID = 35986]
4. Arjun / 315 [Option ID = 35988]

Correct Answer :-
« Nikhil / fAf&@ [Option ID = 35985]

Topic:- MAIN_QA

1) If some of the roots of axZ + bx + ¢ = Obe equal to the sum of the squares, then:-

SR ax? + bx + ¢ = 03 Y& IR INSgaP 3N , a:-

[Question ID = 8952]

1. ab + b° = Zac[Option ID = 35925]
2. bc + ¢ = 2ab [Option ID = 35926]

3. ac + ¢ = 2bc[Option ID = 35927]
4. None of these / a0 Udha! AT [Option ID = 35928]

Correct Answer :-
o ab + b2 = 2ac[Option ID = 35925]
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If A = cos20 + sin20, for all values of 0 then:-

SR A = cos20 + sin26, § THIHIUI 6 =T d Yeaiard} 3Mg, av:-

[Question ID = 8954]

SeRe]
1, 44 [Option ID = 35934]

3 13
T T

2. #7718 [Option ID = 35935]
-=<A<1

3.5 [Option ID = 35936]

4.1 < A < 2 [Option ID = 35933]

%]

Correct Answer :-

(<A<l
. 3 [Option ID = 35936]

3) If pand g are non-zero constants, the equation x2 + px + g = 0 has roots a and B, the equation
gx2 + px +1 = 0 has roots:-

R pd g8 AR R 3P 3Ted T THH X2 + px + ¢ =0T Y& a T B 3R, a THIBIT gx2 + px + 1
= 0 T 5 T,
[Question ID = 8951]

[Option ID = 35921]
[Option ID = 35923]

3, [Option ID = 35922]
4. None of these / TT0! Tdha! ATl [Option ID = 35924]

Correct Answer :-
1 1
=~ and—

« “ % [option ID = 35923]

4) In a lottery, there are 10 prizes and 25 blanks. A lottery is drawn at random. What is the
probability of getting a prize?

THT dleid 10 9T 7 4 P 3R, dledt WR TS+ P STd. d¥ 9&fiF arTogr reg«r fad?

[Question ID = 8964]

1
1. 1% [Option ID = 35973]
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N
-1

[Option ID = 35975]

w
ol | b3

[Option ID = 35974]

4, [Option ID = 35976]

Correct Answer :-

2
« 7 [Option ID = 35975]

5) From a pack of 52 cards, two cards are drawn together at random. What is the probability of both
the cards being kings?

4R YA HIUAE! G Ul BTed. ) gie! U ITerag fFravart et fadt sme?

[Question ID = 8965]

25

1. 37 [Option ID = 35978]
1

2. **1 [Option ID = 35980]

35
3. 256 [Option ID = 35979]

4. ™ [Option ID = 35977]

Correct Answer :-
1

#21 IOption ID = 35980]

6) A man saves Rs. 320 during the first month, Rs. 360 in the second month, Rs. 400 in the third
month. If he continues his savings in this sequence, in how many months will he save Rs. 20,000?

TST AU gfeedn Afg=ard ¥ 320 99d ddl, gH=AT AR-ATd ¥.360 A1 g9d deit 9 faw=a1 Afg=ard %.400
gm%ﬁﬁ.waﬁmuﬁﬁﬁmﬁmmﬁw%ﬂmﬂmﬁnﬁmaazo,ooosﬂaﬁm
?

[Question ID = 8961]

1. 22 months / 22 A= [Option ID = 35963]
2. 20 months / 20 Afg [Option ID = 35964]
3. 25 months / 25 AR [Option ID = 35962]
4. 28 months / 28 Al [Option ID = 35961]

Correct Answer :-
« 25 months / 25 HAfg [Option ID = 35962]
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If the numbers 3k + 4, 7k +1 and 12k- 5 are in A.P, then the value of kis:-

R PHID 3k + 4, 7k +1 AT 124-5 T AMHS T T 3<dId, OR 4D oI HTA?
[Question ID = 8963]

1. 5 [Option ID = 35972]
2. 4 [Option ID = 35971]
3. 2 [Option ID = 35969]
4. 3 [Option ID = 35970]

Correct Answer :-
e 3 [Option ID = 35970]

8) A boat is rowed away from a cliff 150 m high. At the top of the cliff, the angle of depression of
the boat changes from 60° to 45° in 2.5 minutes. The speed of the boat (in m/sec) is:-

T® dic gegad Que H. 39 fhm=urean gr Adht. fr==arear a¥=an UIFTIREA die @t smvamar i 3.4 e
o d ¥y 3N Fgaral.a? aidtan o (/b <) fFdz

[Question ID = 8957]

2+/3-3

1. [Option ID = 35948]

L
2. ¥3  [Option ID = 35945]

3. V3+3  [option ID = 35947]

[Option ID = 35946]

Correct Answer :-

1
li—=—=
<3

. [Option ID = 35946]

9) 1f 8, 2 are the roots x2 + ax + b= 0 and 3, 3 are the roots of x2 + ax + b = 0, then the roots of
the equation x2 + ax + b = 0 are:-

WRIBZ B X2 +ax+b=0 3V 3,33YB x2 +ax + b= 0 Y VA R WS x2 + ax + b=
0 T g5 HTA?

[Question ID = 8950]

. —8, =2 [Option ID = 35919]
. =9, 2 [Option ID = 35918]
. 8, —1 [Option ID = 35917]
. 9, 1 [Option ID = 35920]

D WN R

Correct Answer :-
e 9, 1 [Option ID = 35920]
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10)

Ifx=a(b-c).y=bc—a),z=cla—b) then (Z)E : - E)E + (E)gis equal to

stx=alb -y =He-axz=cla-b) T (2) + () + () wtrae e

[Question ID = 8947]

XYE
1. abc [Option ID = 35905]
H{x+y+z)
2. {abc)  [Option ID = 35908]
g EFE
abc .
3. [Option ID = 35907]
P ]
abe

0| =

[Option ID = 35906]

Correct Answer :-
o
b
. @€ [Option ID = 35907]

11)
Ifx = =2, find the value of 23+

_ A5 o 3l T R eoie

9 x :
V53 ° x?

[Question ID = 8949]

1. 488 [Option ID = 35915]
2. 644 [Option ID = 35913]
3. 512 [Option ID = 35914]
4. 348 [Option ID = 35916]

Correct Answer :-
e 488 [Option ID = 35915]

1+cosd 1—cos8
1—cos8 1+cos

If?[iﬂﬂz—n,thm iscqualm~

am 1+cos8 1—cosf
R asfs—, @M + =T 9 FE ?
z 1—cos8 1+cos

[Question ID = 8955]
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. 2 sec 8 [Option ID = 35939]

. 2 cosec 6 [Option ID = 35937]
. —sec 0 [Option ID = 35940]

. —2 cosec 0 [Option ID = 35938]

D W N~

Correct Answer :-
e —2 cosec 6 [Option ID = 35938]

13)
2 ; 2 !
The value GftEﬂTH —tau% —/3tan ?H tan% is -
oF

p= ] =]

g 25T T 2T T 3
tan— —tan - — V3tan _tan _ < fhea & 2

[Question ID = 8953]

1. 1 [Option ID = 35931]

—~3
2. [Option ID = 35929]

3

3. V3 [Option ID = 35932]
1
V3

4, [Option ID = 35930]

Correct Answer :-

3
. ‘j_ [Option ID = 35932]

14) On the same side of a tower, two objects are located. Observed from the top of the tower, their
angles of depression are 45° and 60°. If the height of the tower is 150 m, the distance between the
objects is:-

TTaeT TS T SIS[@ g 9% 3Ted, eravedl RRaxTawe+ fARifarr e sraar o fewd 9 gigl avq 45° 9 60°
=T BTG ST 3Ted. SR T e[avdl 39 150 m. 30, TR &1 I (objects) At 3feR bl srdar?

[Question ID = 8946]

1. 90 m [Option ID = 35904]

2. 63.5 m [Option ID = 35901]
3. 76.9 m [Option ID = 35902]
4. 86.7 m [Option ID = 35903]

Correct Answer :-
e 63.5 m [Option ID = 35901]

15) A flagstaff of height 1/5 of the height of a tower is mounted on the top of a tower. If the angle
of elevation of the top of the flagstaff as seen from the ground is 45° and the angle of elevation of
the top of a tower as seen from the same place is 0, then the value of tan 0 is:-
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U1 TTARaR, STAveAT UTHUT Satedl 1/5 ST Aoy SHT 3MTE. o) a7 SAoRa YT a¥d eid Sia-urg uried
ST ¥ BT TG SHTIOT TTaRae UTed SRIAT SIS HTY ¥ €I 0 3fTd 38d a¥ ¢ 0 I o fvedt:?

[Question ID = 8958]

=

1. 5 [Option ID = 35950]
53

2. & [Option ID = 35951]
=

3. 6 [Option ID = 35949]
-
5

4, [Option ID = 35952]

Correct Answer :-
5

2]
. [Option ID = 35949]

16) A tree is broken by the wind. Its upper part touches the ground at a point 10 metres from the
foot of the tree and makes an angle of 45° with the ground. The entire length of the tree is:-

T 1S TS ded. STl aid I Jf-iar sa1 fewToft Tt wda e« e srsten
g@;ﬁﬁ%ﬂ1oﬁaa@amaﬁamaﬁ=ﬁm4s°waﬁmms@,mamiﬁw
?

[Question ID = 8956]

1. 20 metres [Option ID = 35943]
2. 15 metres [Option ID = 35941]

;. 10 (1 + %) metres

4 1ﬂ(v2+1 metres

[Option ID = 35944]
[Option ID = 35942]

Correct Answer :-
o 20 metres [Option ID = 35943]

17) The perimeter of a triangle is 100 cm and its sides are in the ratio 1 : 2 : 3. The area of the
triangle (in cm?) is:-

T Pt ufkfiredt 200 A4t 3 T a1 AHIvm=T SIS UIRR ( ratio) 1:2:3 31¥ 318, @) T FAHioma
&AF® (in cm?2) A4l fordt srea?

[Question ID = 8959]

1007

1 [Option ID = 35956]
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2. 100¥5 gption ID = 35955]

10043 _
3. [Option ID = 35953]

100415 _
4, [Option ID = 35954]

Correct Answer :-

100415 _
. [Option ID = 35954]

18) The 5t terms of the sequence defined by t; = 2, t; =3 and t,, = t,_; + t,— forn = 3.

t; = 2, ty = 33T, = ty1 + typ 7 n = 3 GRTURUITNG pHaRTda ydt < Hord.
[Question ID = 8962]

1. 13 [Option ID = 35965]
2. 15 [Option ID = 35967]
3. 18 [Option ID = 35968]
4. 16 [Option ID = 35966]

Correct Answer :-
e 13 [Option ID = 35965]

19) The area of a trapezium is 275 cm?. If the parallel sides are in the ratio 2 : 3 and the
perpendicular distance between them is 5 cm, then the smaller of the parallel sides is:-

THT AT @B 275 cm?2 FAD! 3ATg. SR AT TIATeAT GHIaR aTod UNTR 2 : 3 5ad ATg 9 &1 g
AT TS 3iaR 5 cm 318, TR G JHIAR JTgus] AT TS HIUT?

[Question ID = 8948]

1. 40 cm [Option ID = 35910]
2. 44 cm [Option ID = 35911]
3. 48 cm [Option ID = 35912]
4. 36 cm [Option ID = 35909]

Correct Answer :-
e 44 cm [Option ID = 35911]

20) The dimensions of a room are 10 m X 7 m X 5 m. There are 2 doors and 3 windows in the room.
The dimensions of the doors are 1 m X 3 m. One window is of size 2 m x 1.5 m and other two

windows are of size 1 m x 1.5 m. The cost of painting the walls at Rs. 3 per m? is:-

TP & (W ) SMPRAM 10 m X 7 m x 5 m 3T . Wiiar 2 gare! 9 3 fAsan sired. Wieier earsyd
STHFRATT 1 m x 3 m 3T8. THT RASHET SMPR 2 m x 1.5 m 3 I 3R 2 fASHT 1 m x 1.5 m ATHRTAT
TR, AR & 3 Uil TR Hiex yHm R Sremmer veur fFdt @ adar?

[Question ID = 8960]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

1. Rs.578 / % 578 [Option ID = 35958]
2. Rs. 474 | % 474 [Option ID = 35957]
3. Rs.684 / % 684 [Option ID = 35959]
4. Rs.894 / % 894 [Option ID = 35960]

Correct Answer :-
e Rs. 474 /% 474 [Option ID = 35957]
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